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Section :

Sele::lt the most appropriate ANTONYM of the given
wor

Vulnerable

(a) Sensitive (b) Tender  (c) Breakable (d) Secure (d)
The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

The lady was furious/to see that no one/were wearing
masks/on the road near the shop.

(a) The lady was furious  (b) were wearing masks
(c) on the road near the shop

(d) to see that no one (b)
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English

3.

Select the most appropnate meaning of the given
idiom.

‘Drop names
. (a) Delete someone's name froma hst

(b) Name famous people to impress others

."(c) Show disrespect to someone's name

(d) Assume a false name (b)
Select the most appropriate synonym of the given
word.
Stun

(a) Trick  (b) Jest (d) Shock  (d)

(c)'Jﬁk-é
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Select the option that will improve the underlined
part of the given sentence. In case no improvement is
needed, select '"No improvement required'.

The movie theatre is a_excited place where people
can relax and enjoy the experience,

(a) No improvement required

(b) exciting

(¢) an exciting _

(d) the excited ©
Select the most appropriate option to fill in the blank.
Teams from all over India ........... in the talent show.
(a) provided (b) participated

(c) produced (d) prohibited b)

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

The education of girls/is a primary concern for the

country,/so it should be started early,/isn't it?

(a) The education of girls i,

(b) isn't it

(¢) so it should be started early My

(d) is a primary concern for the country (b)
Select the INCORRECTLY spelt word. - .

(a) Collection (b) Consolidation

(c) Coressponding (d) Complaint .~ ~ (¢)
The following sentence has been split into four
segments. Identify the segment that contams a

grammatical error.
The president forced/to leave the countryfwhen the

people rose up against/the government.

(a) to leave the country P
(b) the government b1t
(¢) The president forced iig

(d) when the people rose up against A
Select the most appropriate option to fill in the blank.
For a member to borrow money from the assoclatlon,

three......... need to be met.

(a) accounts (b) conditions

(c) points (d) restrictions o (b)
Select the most appropriate synonym of the given
word.
Defy , a2

(a) Destroy (b) Abide (c) React  (d) Disobey (d)
Select the option that can be used as a one-word

- substitute for the given group of words. 0

Release someone from a duty or obligation. -

(a) Banish (b) Exonerate (c) Dismiss (d) Expel' (b)
Select the optlon that will improve the underlined
part of the given sentence. In case no improvement is
needed, select 'No improvement required’.

Unless we sat in an-incorrect posture, we may strain
our back.

(a) Although we are sitting

(b) Until we sit

(c) No improvement required

(@ Ifwesit " (d)

14.

15,

16.

17.

18.

19.

20.

Select the option that can be used as a one-word
substitute for the given group of words.

An object through which we cannot see at all.

(a) Opaque (b) Transparent

(c) Translucent (d) Crystal (a)
Select the INCORRECTLY spelt word.

(a) Recession (b) Remission

(c) Precission (d) Omission (c)
Seleﬁt the most appropriate ANTONYM of the given
word.

Alert

(a) Ready (b) Careless (c) Active (d) Aware (b)
Select the option that will improve the underlined
part of the given sentence. In case no improvement is
needed, select "No improvement requlred'

The decision to become a doctor is completely hers.
(a) No improvement required

(b) is completely her

(c) is complete her's ;

(d) are completely her (a)
Select the most appropriate meaning of the given
idiom.

To beat around the bush

(a) To discuss the main topic

(b) To avoid the main issue

(c) To avoid noticing someone

(d) To explain something in detail (b)
Select the option that can be used as a one-word

substitute for the gwen group of words.
Imitate someone's action or words in order to

' entertain or ridicule

(a) Repeat (b) Duplicate (c) Copy (d) Mimic (d)
Select the most appropriate option to fill in the blank.
The socio-economic policy has been the........... of much
debate. !
(a) subject (b) talk
Comprehension:
[Direction : 21-25] In the following passage; some

(c) object (d) concept (a)

words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

everyone’s (1)

have won prizes (2)
that the school council (3)
to me with problems, I (4)
judge people who come to me for (5)

You should elect me as Class President as I think that
matters. I am a confident speaker and
public speaking. I will make sure

to us. When people come
listen carefully. I never

. You can count

on me for help.

21,

22.

23.

24.

25.

Select the most appropriate option to fill in blank no. 1.

(a) estimate (b) opinion

(c) theorem (d) reaction (b)
Select the most appropriate option to fill in blank no. 2.
(a) on (b) by (c) of (d) for (d)
Select the most appropriate option to fill in blank no. 3.
(a) believes (b) hears

(c) listens (d) accepts - ()

Select the most appropriate option to fill in blank no. 4.
(a) always (b) barely (c) seldom (d) never (a)
Select the most appropriate option to fill in blank no. 5.
(a) advice (b) news (c) caution (d) lesson (a)
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